Tous les résultats pour les isotopes du Tellure

Tellure 107 (Z=52, N=55)
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Tellure 109 (Z=52, N=57)
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Tellure 111 (Z=52, N=59)
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Tellure 108 (Z=52, N=56)
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Tellure 110 (Z=52, N=58)
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Tellure 112 (Z=52, N=60)
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Tous les résultats pour les isotopes du Tellure

Tellure 113 (Z=52, N=61) Tellure 114 (Z=52, N=62)

SR* (fm?)
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Tellure 115 (Z=52, N=63) Tellure 116 (Z=52, N=64)
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Tellure 117 (Z=52, N=65) Tellure 118 (Z=52, N=66)
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Tous les résultats pour les isotopes du Tellure

Tellure 119 (Z=52, N=67) Tellure 120 (Z=52, N=68)
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Tellure 121 (Z=52, N=69) Tellure 122 (Z=52, N=70)
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Tellure 123 (Z=52, N=71) Tellure 124 (Z=52, N=72)
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Tous les résultats pour les isotopes du Tellure

Tellure 125 (Z=52, N=73) Tellure 126 (Z=52, N=74)
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Tellure 127 (Z=52, N=75) Tellure 128 (Z=52, N=76)
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Tellure 129 (Z=52, N=77) Tellure 130 (Z=52, N=78)
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Tous les résultats pour les isotopes du Tellure

Tellure 131 (Z=52, N=79) Tellure 132 (Z=52, N=80)
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Tellure 133 (Z=52, N=81) Tellure 134 (Z=52, N=82)
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Tous les résultats pour les isotopes du Tellure

Tellure 137 (Z=52, N=85) Tellure 138 (Z=52, N=86)
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Tellure 139 (Z=52, N=87) Tellure 140 (Z=52, N=88)
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Tellure 141 (Z=52, N=89) Tellure 142 (Z=52, N=90)
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Tous les résultats pour les isotopes du Tellure

Tellure 143 (Z=52, N=91) Tellure 144 (Z=52, N=92)
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Tous les résultats pour les isotopes du Tellure

Tellure 149 (Z=52, N=97)
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Tellure 150 (Z=52, N=98)
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Tous les résultats pour les isotopes du Tellure

Tellure 155 (Z=52, N=103) Tellure 156 (Z=52, N=104)
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Tous les résultats pour les isotopes du Tellure

Tellure 161 (Z=52, N=109)
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Tellure 162 (Z=52, N=110)

T T Aanan T E T
i 4 Protons d
B Neworsd  ~1od- AT o Neutons ]
/ S £
s i 5 o Zoo E
< S / T
Protons € 505 bl N a
., Neutons ]
A€ B ] 0o 5 1 15
T TNV
T 8 Prot s
rotons
s Neutrons |
Protons = ~ 15
Neutrons S o <
° s
3 o 4
© 2 )
71 w
1 3
B 25f
aranflnnnflocel % Mol
<o T
3 4
= S a
€ wif 3
£ ] 2|
b ] w
&2 & [
iL 1 N 15
RY,F b
v | VoA | b
05 00 05 10 05 00 02 04 05 08
HFB-D1S Bruyéres-le-Chétel
Tellure 164 (Z=52, N=112)
ooy T T T T @ o
i 1 caf Protons o~ Protons
8 g, Newrons] 1o A T o Neutons
/ % 2 > <
¥4 < 5 - T E
*? & T
Protons € s ] AL
., Neutrons 3 /
A€ B ] 0o 5 1 15
T
i S poons |
: Neutrons
Protons ~
o 12 Neutons “ S
k °
& H
£ T e [
o # 10
1 . 3
Bl
aranflnnnflocel .
s L ) S|
]
= s
T wit °
£ H
B o 1 w
&2 & [
N
R.,-F f
ot I 2l b
05 00 05 10 05 05 00 05 10 00 02 04 06 08
HFB-D1S Bruyéres-le-Chatel
Tellure 166 (Z=52, N=114)
ooy T T T @ el
L 1 Protons ~ Protons
B Newons]  ~ 1o 12 o Neurons 3
/ / > )1 <
N < Zoo 4
& T
Protons ® sk ] AL
., Neutons =
L OB 1 / 0o 5 1 15
T TNV A 1 (fm)
PT84 poons | T Neutrons
= Neutrons
Protons ~
o 12 Neutons “, 3ot 1s
< £ g
= T ® [ I\ =
o raog /| 1w
B » 3
Bl
aranflnnnflocel I
e o T
3
s s ~—
T wif ?
< z
'3 w
2 b L o
© 9 N[ Q
3 R ]
et | Ll
05 00 05 10 05 05 00 05 10

HFB-D1S Bruyéres-le-Chatel




Tous les résultats pour les isotopes du Tellure

Tellure 167 (Z=52, N=115) Tellure 168 (Z=52, N=116)
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Tellure 169 (Z=52, N=117) Tellure 170 (Z=52, N=118)
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Tous les résultats pour les isotopes du Tellure

Tellure 173 (Z=52, N=121) Tellure 174 (Z=52, N=122)
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Tellure 175 (Z=52, N=123) Tellure 176 (Z=52, N=124)
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Tellure 177 (Z2=52, N=125) Tellure 178 (Z=52, N=126)
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